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Part A - Answer Any Two Full Questions ( 2* 20 = 40 marks) Marksl*CI.;JB Em
1 (a) Define ratio. [03] co2| L1
(b) |What is cash flow statement? How it is prepared? [07]|CO2| LI
The following Balance Sheet are given:
Liabilities 2021 2022 Assets 2021 2022
Equity share 3,00,000 | 4,00,000 | Good will 1,15,000 | 90,000
Redeemable Pref 1,50,000 | 1,00,000 | Land and Building | 2,00,000 | 1,706,000
General Reserve 40,000 | 70,000 | Plant 80,000 | 2,00,000
Profit and Loss 30,000 | 48,000 | Debtors 1,60,000 | 2,00,000
Proposed Dividend | 42,000 | 50,000 | Stock 77,000 | 1,09,000
Creditors 55,000 | 83,000 | Bill Receivable 20,000 | 30,000
(c) Bill Payable 20,000 | 16,000 | Cash in hand 15,000 [ 10,000 (| [10]|CO3| L3
Prov, for Tax 40,000 | 50,000 | Cash at bank 10,000 8,000
6,77,000 | 8,17,000 6,77,000 | 8,17,000
It is given that:
(1)  Depreciation of Rs. 20,000 on L and B and Rs. 10,000 on plant has been charged in|
2021
(ii)  Intern dividend of Rs. 20,000 has been paid in 2022
(iii)  Income Tax Rs. 35,000 has been paid during 2021. Prepare cash flow statement as per|
AS 3 from the year 2021.
2 (a) | What is ROCE? Give the ratio of ROCE. [03]|CO2| L1
From the following particulars, prepare a bank Reconciliation Statement showing the balance
Fs per Pass Book on 31st March, 2013.
(i)  The following cheques were paid into the firm's Current Account in March, 2013 but
were credited by the Bank in April, 2013. Mr. A Rs. 2,500; Mr. B Rs. 3000; Mr. C
. 2,400,
®) (if) ‘Il’:fae following cheques were issued by the firm in March, 2013 but were cashed in ot 13
April, 2013. Mr. D Rs. 3,000; Mr. E Rs. 5,000 Mr. F R. 3,000.
(iii) ~ The Pass Book shows a credit of Rs. 250 for interest and a debit of Rs. 5 for bank
charges.
(iv)  The Bank Balance as per the Cash Book was Rs. 18,000.
From the following income statements, calculate:
(i)  Curent ratio
(i)  Acid-test-ratio
(iii)  Debtor turnover ratio
(iv)  Average collection period
v Stock turnover ratio
() (;E\.s,)sume 360 days in a year) (10])CO3| L3
Particulars Amount
Net sales 10,00,000
Less : cost of goods sold or cost of sales 7,00,000
Gross profit | 3,00,000
Less : operating expenses 2,00,000

(i



Net profit | 1,00,000
Cash in hand 5000
Cash at bank 4,000
Debtors 40,000
Closing stock 15,000
Fixed assets 56,000
Creditors 36,000
Bills payable 2,000
Short —term loan 10,000
Equity share capital 60,000
Reserves & surplus 12,000
3 (a) | Why is bank reconciliation statement prepared? [03](CO1| LI
From the following income statement of Renuka Ltd, explain the changes in 2020 in the light
bf condition prevailing in 2019 (using comparative statement analyses).
Incomes & Expenses 2019 2020
Gross sales 15,300 18,360
Less: Returns & discounts -300 -350
Net sales 15,000 18,010
Less: Cost of Sales -9,100 -10,125
Gross Profit 5,900 7,885
(b) Less: Operating exp: [07]|CO2| L3
Selling exp -3,000 -3,300
Admn, exp -1,500 -1,700
Operating profit 1,400 2,885
Add: Other incomes 150 200
1,550 3085
Less: Other expenses -200 -300
Net profit 1,350 2,785
(c) |Bring out the important types and objectives of Ratio Analysis. [10]|CO3| L2
Part B - Compulsory (01*10=10 marks) — CASE STUDY ‘
Prepare statement of Trading and Profit/ Loss for the year ended 31* March 2022
4 Capital - 1,00,000 Drawings — 10,000
Creditors - 12,000 Purchase - 1,05,000
Sales - 1,64,000 Return /W - 3,000
Return O/W — 5,000 Wages - 50,000
B/P -5,000 Bank - 10,000
P&M - 40,000 Repairs — 500
Drs — 24,000 Stock — 20,000 [10]|CO3| L4
Rent - 4,000 Bad debts — 2,000
Mfy Expenses - 8,000 Carriage -1,500
Trade Expenses - 7,000 Fuel charges — 1,000
Adjustments:

(i)  Stock as on 31* March 2022 - 14,500
(ii) Depreciate P and M by - 4,000
(iii)  Allow interest on capital at 5%
(iv) _ Outstanding repairs charges - 400.

Page 2 of 3




CMR

INSTITUTE OF
TECHNOLOGY

Sub: ]A—CCMV\?J Ee'r Moo gens

Code: 22MBA-1%

Max g .
Date: [315]9423 Duration: 90mins_Marks: _50 Sem: I Branch: MEA
Note: Part A - Answer Any Two Full Questions (20*02=40 Marks)
Part B - Compulsory (01*10= 10marks)
Part Question # Description . Marks MI:::.
) | & duenby Mo Koiiant sl Kowhop ,
Llw vecmus (reany ¥ bis awd PLL Y A fitna.
b) Gl Rovn  § balivent ST TIPREI N /'S o
5 aed u¥lews g as
7
c)
Mf‘( (ted svo ~J00N°) .
o L R <= Y
&) g LAB
Craord bl it u
Md@ fo Prve= VI
Oeared Rarove A e bones] 10
vy e o | BYW o~ (420
Pro A—.%QUT Vo7 Yoo &ﬁwd{{f‘dﬁ*( (oW
Burtyemhn. P A 940 R Craow0)
206008 Neb lr M torda G
> B'P i ovo) Lo ‘3
1 DV (tosy| TP bt Oty 1350
1 Show Craov)| (o bl Gl |1
) h( Crv,0W) —
Thopvs
(= Tonr poa 365:0 ’m
oty Op.Cebrviiy | [250we \




mee < G027
Cphd eplorps

Ciglos RAKNDHCD  Yfw 6p0yely
oo ot mexmm

b)

Baut Rocormardcaion Shalliand

Bax bet o4 per cg%l,wu/ ftS'moo.
&) Aegue IMues bot wok Gaglaa ULawe

—@30""00@ S’UU'O @ gOUQ
@) Ud. Gedledt Bk PoR Lupst

ALAded o Cot bosle bl Bk
C)W&BM‘W Ued el ajm
— P N&A" |

Cr? e ® 3“;,5,@ 2400, | @po)
) [ evunde Uanges Teot e '

Poan L es ke ,MMtW’MCB &) e

Rade bolamre ag per Pous beovl] o 5\'(.

HCR = CA  _ 64O, o3
ch . = Y Lo >_-';=%-—

Cmdi S5 )b, vo,00
@ Dm - —_M" Dﬁ ——'-._I‘U'_O\ﬁl

cohs
D STR = o gel. oW

@ ATR = M :M:I~DL
i

T

_ 260 ~ 144 ﬂw
® Ak = d——

= 00,0 - YA

= A% K

——

T

10

20M




pTO.

b)
20M
c)
10M
10
a)




stoliomnte 4 PL L Me Ao U3 ae
2 Coenpied |
O Burose
Calon lbyoso
F) Qs il
@ 0}4,4,\ Rprt—a - -
™Rt Qe ® il
il
i R
@ Coug
Sp- s ko U 20,0%9.
(&) Purdnoter e
&) (ool —
. 126 S0
(e Uetdvg touk Ui 7 Lo -
lorove
D_ﬂ_p_«{ L
s s
Rurk AR
TOOJL Q/l_fj Foos
Red clobt- A
M, eApS. Qo
faed hranges fove .
Rsp o=y Lov
@) ols 00 | Fovu,
D epaeucakiva o
Bk o OOpcted (towmoxsi) OO
— |1&®900
13 (Z}MU")
Lag[prors Cr—B) i
ek Lo = —ﬂ"'—_o‘l%oo

posi




